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=N 848
Hu: QASA(SHE)
Sl RIAZA Y BM=X N (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OF0IXXAHEH Lbt2H|
1,035,000 * 427| 4,140
OF0 XX EBASGE 11,340
-&J|3 30,000 * 274 * 123 9,720
-2 Al 3l 30,000 x 27 « 23| 1,620
OF0XXHE ¢ HES AISE
J000 « QI = 12€€ 756
O&FTEEZ XA 500,000& = 104 5,000
02 =224 H| 1,000 1,000 0
OF0XXAEH HMHCHAAY KA 22l
500,000 = 200 A 1,000
301 LBt A= 2,700 2,700 0
09 HAIAHI EAZ 2,700 2,700 0
OXzge=s A N 2,700,000& 2,700
405 XHAFFEI S HI 1,000 1,060 A B0
01 XAt 2 E F S| 1,000 1,060 A 60
OFQXXHH G2 2 1,000,000 = 1CH 1,000
Scletdes A 165,230 165, 230 0
301 et A= 165,230 165,230 0
0 S&E -0 -EHEESEMN= 165,230 165, 230 0
OO0 &= 150,880
-Jlgsd 200,000& = 469¥ * 12& 110,400
= 200,000 = 46Y¥Y * 23| 18,400
-slolE A ey
20,000& = 46Y * 23| » 12& 22,080
Ot A= 50,000& = 287Y¥H x 13| 14,350
INE=3=12= R0 N 9,580 8,820 760
301 LBt A= 9,580 8,820 760
04 AIsHHMHAH XS 9,580 8,820 760
OXsgtgdia 9| 9,580
-0F Al H| 3,000 * 4 = 1JHCH * 3652 4,380
-29 4 Ltghy| 100,000 = 1JHCH = 12€ 1,200
-Xt &R Xl gl 4,000,000 = 1JHCH 4,000
SSAE S 2el 111,071 113,617 A2 ,546
101 e1214| 7,960 7,366 594
04 J|12tHIZ22NEES 7,960 7,366 594
OAIJIXIEH & 23 Ald2e o2 7,960
=0 48,240 * 18 = 150 7,236
-AISIEE J|a8se=2 7,236,000& * 10% 724
201 gEt24y| 88,259 84,899 3,360
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2N 248
H: QIRAZAH(SAHES)
Sl RIAZA Y BM=X N (sl &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2 22l Yl 12,280 8,920 3,360
O2LAEtMEH < EHI 250,000& = 12& 3,000
OsUMEAYE 22185 7
50,000& * 10& * 23 1,000
OdAIE JI2D] M % 8,000& * 5& * 1504 6,000
O&J|otE 22 =2 100,000& * 12& 1,200
O&=J] &2 & d=2=2I| Uyl
90,000& = 12& 1,080
02 332494l 75,979 75,979 0
O332=2 % HA 37,894
&I 2 2R3 2,200,000 = 12& 26,400
~HAIE S L FAXR S 100,000& = 12& 1,200
-HlaZsAlE &2
60,000& = 24 = 128 1,440
“FNENSE 22 600,000& * 12& 7,200
—SENLHRE S 100,000& * 23] 200
-grgt2tel A & 2l &Yl 50,000& * 13l 50
—RALSAES 27,000& * 12& 324
“HA Y H43 22408
180,000 * 204 = 33 1,080
OH =l 9,240
-Herd 2| 11,000& * 8AlI2F = 105 9,240
OAlI&&Hl SXl2elbl 26,100
-A 28 XHl(1,859m" ) 4,500,000& 4,500
OtSCH2 st 4 1,800,000& 1,800
-HlaZ=AIE 1,500,000& * 2J0 2 3,000
-H=E oI 100,000& * 5CH 500
-H&E&d |X2el 190,000& * 19CH 3,610
-HAS2ZE 270,000 = 4700 A 12,690
O Xt ghy| 2,745
-A8olE2, AEESEX 2,605,000& = 104 2,605
- HAI==S 70,000& = 23] 140
307 212t01 & 5,352 5,352 0
05 A2t E =2 5,352 5,352 0
ORI AHHIAIAE 446,0008 * 12& 5,352
401 Al HI L ROl 9,500 1,000 8,500
01 A& HI 9,500 1,000 8,500
Sdsll 222 B3 AM 4,500,000 4,500
OSMEEA EAA &X 5,000,000& 5,000
SHARDAMLFR(SHES) 286,477 301,261 A 14,784
AR EAIEFE 286,477 301,261 N 14,784
ARNE L ARSAS 250,188 270,404 N20,216
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2N 248

N SUARDALEA(SHE)

S9: ARDAYE CERED
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 5,000 0 5,000
01 AP 22| H| 5,000 0 5,000

OatMize| Z2LSAIY EXYXE 5,000,000 5,000
401 AlEHIZL 2 0HY| 245,188 270,404 N25,216
01 Al& H| 225,000 250,000 A 25,000

QOstdg2e] OtAZ2 M LI 2 AH(L=180m)

15,000,000 15,000

O™ =242| =2 & H| 2 AHL=70m)

20,000,000 20,000

OE212| =2 XL 22 AH(L=100m) 15,000,000 15,000

OAlHE4E| OLAZ LM RT] 2 AH(A=900m")

15,000,000& 15,000

OSLH3El OtAZ A MRI| 2 A (A=650m")

10,000,000& 10,000

OZ4t32| =2 = H| 2 AH(L=180m)

10,000,000& 10,000

OgLii1el =2 = | 2 AH(L=180m)

20,000,000 20,000

OgL8el o= A Hl 2 AH(L=200m) 10,000,000 10,000

OQH3E OFAZ2EHM 2|2 AH(L=300m)

15,000,000 15,000

O4l&M62l Hi =2 & Hl 2 AH(L=60m)

25,000,000 25,000

Oz OrsSeot2 22 AH(L=70m)

10,000, 000& 10,000

OE2 & AM&E X4 50,000,000 50,000

Oatai3e] BRSHAIYE X3 A |

10,000, 000& 10,000
03 Al& 201 Y| 20,188 20,404 A216

Oz 2 staAdl &Y &X= 15,000,000 15,000

OMAEZH X2 3,000,000& 3,000

OARR FoUS@ANL ZXL Y|

165,000,000 = 0.72% 1,188

O] H Y £2|d| 1,000,000 1,000

Z2AXIHANS 36,289 30,857 5,432
101 e1214| 5,789 5,357 432
04 JI2ZtHIZ22NEES 5,789 5,357 432

OotsSt2 s4& JI1RJ| o8

48 2403 * 120€ 5,789
201 et d| 1,500 1,500 0
01 AP 22| H| 1,500 1,500 0
Ootetig s44d JI3RI s231Y
1,500,000 1,500
206 M = dl 11,000 11,000 0
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1) 18 0x
Fo B 1o
Pl
e
I =
™
o
0x
]

e
I

M- BB (BH) - NEAY - BaS ofl &t o SSa HDE2
01 & bl 11,000 11,000 0
OO0IELIE SEEIIRIIAY S 8,000
- ZHN Y 22 04 4,000,000& * 2= 8,000
OSAHUIZ=H MZHl 3,000,000& 3,000
401 Al HI L £ 0HHI 18,000 13,000 5,000
01 A& HI 13,000 8,000 5,000
OSHA M IHEAH T2 AtE A THAIE
(L=200m) 8,000,000 8,000
OOEt2 843 JI3RI H=x=&Y
5,000,000 5,000
03 A& £ HH| 5,000 5,000 0
OOtst2 843 JI3RJ| dHlgXsE
5,000,000 5,000
HMSHAH (SHES) 140,694 132,959 7,735
Jl2db(848) 140,694 132,959 7,735
o= | 140,694 132,959 7,735
201 Bt A | 69,204 71,459 N2,255
01 At 22l ] 46,730 47,660 A 930
Ogst=2H| 6,600,000 6,600
OF=1=] 5,550,000& 5,550
Og - =8 18,060,000 18,060
OgBt= A YXE 200,000& * 1CH ~ 12& 2,400
OgetEs)|(MEE) XS
200,000& * 1CH *~ 12& 2,400
O#HHEAEPAZS 24| 11,720
-2 I elED| 6,000
- EY 300,000& * 200 ~ 4= * 23| 4,800
== 300,000 = 2CH = 23 1,200
- Bt el | 200,000& * 1100 = 23] 4,400
-2AM (EH & =9)
200,000 * 1CH = 33/ 600
-FAX 120,000 * 204 = 33 720
02 33249l 22,474 23,799 N 1,325
O222=2 % JMAM(fE23) 19,500,000& 19,500
O™ EH KRAEE=H| 2,974
-CHIIsAFRD1D] 1,300,000& = 22CH * 5% 1,430
T 2lE D] 4,000,000 * 1400 * 2% 1,120
-2 AHD| 15,000,000& * 1CH * 2% 300
-FAX 600,000 * 2CH * 2% 24
-CCTV & & &l 2,000,000 = 100 * 5% 100
202 044l 56,700 45,360 11,340
02 EHN Y| 56,700 45,360 11,340
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